
 SHACKLE 

 2
5 

 
27 

 
25

 

 200 

 2
0 

 
22 

 
20

 

 150 

 16 

 1
25

 

FO
R 

80
x8

0/
10

0x
10

0 
BO

X 
SE

C
TIO

N
 P

O
ST

 (L
EN

G
TH

 =
 G

A
TE

 H
EI

G
HT

 +
 7

00
m

m
) 

FO
R 

12
0x

12
0/

15
0x

15
0/

20
0x

20
0 

BO
X 

SE
C

TIO
N

 P
O

ST
 (L

EN
G

TH
 =

 G
A

TE
 H

EI
G

HT
 +

 1
00

0m
m

)

 40 MIN 

 20 MIN 

 1
14

0 

 3
05

 M
A

X 

Rectangular slots are utilized in the box section 
to allow adjustment of M8 bolts without needing 
to break the mesh apertures for bolt insertion.

 1
15

0 
 

 1
95

0 
/2

35
0 

/ 
29

50
 /

 O
V

ER
A

LL
 H

EI
G

HT
 O

F 
G

A
TE

 F
RA

M
E 

1000 / 1200 / 1500 / 2000 / 2500 / 3000 /
 3500 / 4000 / 4500 / 5000 / 

OVERALL WIDTH OF GATE LEAF

POST WIDTHS + GATE WIDTH + 110 + 30
= OVERALL GATE WIDTH 

 150 MAX 

 200 

 1
10

 

 50mm Ground Clearance 

 7
00

 M
IN

 
20

00
 /

 2
40

0 
/ 

30
00

 O
V

ER
A

LL
 G

A
TE

 H
EI

G
HT

 F
RO

M
 

 T
O

P 
O

F 
G

A
TE

 P
O

ST
 T

O
 F

IN
IS

H 
G

RO
UN

D
 L

EV
EL

 3
50

 M
A

X 

 1
59

0 
M

A
X 

 2
60

0 
M

A
X 

700-1000x300x300mm, GRADE C20/25
MINIMUM CONCRETE FOUNDATION 
DEPENDANT ON POST DIG IN LENGTH

A vertical support of equal specification to the gate frame
should be welded vertically between top and bottom cross 
member to ensure no mesh panel exceeds 2500mm wide, 
vertical supports can be added on all gates at min of 0.8m 
centres to create a more rigid frame.RIBBED INSERTS 

APPLICABLE ON ALL POSTS

TYP

TYP

 110 MAX 

 6
0 

M
IN

 

 30 MAX 

80x80x3 /100x100x3 / 120x120x3
BOX SECTION CATCH POSTS

80x80x3 /100x100x3 / 
120x120x4 /150x150x5/
200x200x5 BOX SECTION HINGE POSTS

 16 

 5
 M

IN
 

Clamp bars must align with the hole placement in the 
gate leaf and posts, always using slots sized to match 
the bolt. Clamp bars should also match the width of the 
box section with the exception of the hinge post clamp 
bar.

AZ

BA

18 THRU

3 x  20 THRU ALL

 60 

 1
5 

 130 

 200  60 

 440 

 4
00

 

 2
0 

 2
0 

 20 

 260 

 1
75

 

 7
0 

 30 MAX 

 370 MAX 

GENERIC SLIDER CONFIGURATION 
 & LOCKING ARRANGEMENT

Minimum of 12mm
thick slider bar.

60X60X2mm BOX SECTION FABRICATED INTO A "U"
AND FULLY WELDED TO GATE FRAME.

Security padlock can be locked via
two positions on the slider assembly.

A 16mm bar is fully welded and 
positioned centrally to the slider, 
allowing the slider leaf handing to 
be configured in either direction.

Minimum of 6mm 
Plate covering slider.

The slider, in the locked position, 
passes through a 16mm x 125mm 
rectangular slot in the catch post.

TYP

TYP

 1
10

 

 70 

 85 

 40 

 22 

 1
30

 

 2
50

 

 6
00

 

 
8 

 25 

 6
0 

 1
40

 

 2
90

 

 5
0 

Bolt On Heavt Duty
 Drop Bolt

Drop bolts are used to hold 
the gate in the open position.

5 Ø Locking pin which gets 
installed with 5mm csk bolt to 
prevent removal of drop bolt.

Installed with X2 m8 x 70 cup
heads and X2 m8 washers &
m8 shear nuts.

Locking drop bolt guide slot for 
pin gives 130mm of movement 
from open to close postion.

The flag can be installed using an 
M5 socket bolt in either direction, 
allowing either handing to utilize 
the drop bolt.

The drop bolt is installed through a 
25mm x 35mm through-slot, allowing 
for adjustment while functioning as 
an in-housed drop bolt. 

Being an in-house drop bolt, it 
prevents clashes with the bolts 
used to attach the mesh to the 
gate frame

BL

Lock shackle goes behind 
cover plate to protect lock 

1.   All materials to be mild steel and
      conform to relevant British standards.
2.   All items to be pre-galvanised to BS EN 10346
      or hot dip galvanised to ISO 1461.
3.   Items can be powder coated on request,
      powder coating to : BS EN 13438
4.   installation via R.A.M.S

N/A
N/A

SINGLE LEAF LOCKING ARRANGEMENT

FOR GATES TO BE COMPLIANT THEY MUST 
BE FITTED WITH ONE OF THE PADLOCKS BELOW

Single Gate Leaf Dig In Kit

To ensure effective operation, the 
drop bolt must have a minimum of 
50mm clearance into the ground.

ALL GATES WITH 80x80/100x100/120x120 
BOX SECTION HINGE POSTS ARE TO BE FITTED 
WITH GALVANISED EYE BOLTS WITH M8 x 40 

SADDLE BOLT AND M8 SHEAR NUT 

ALL GATES WITH 150x150 / 200x200 BOX 
SECTION HINGE POSTS ARE TO BE FITTED WITH 
GALVANISED EYE BOLTS WITH M8 x 40 SADDLE 

BOLT AND M8 SHEAR NUT 

Henry Squire & Son Padlocks List

Product 
Name

Shakle 
(mm) Security Rating

SS50S 26.0 2

SS50CS 16.0 2

SS65S 29.0 3

SS65CS 19.0 3

SS80S 34.5 3

A A

B B

C C

D D

E E

F F

6

6

5

5

4

4

3

3

2

2

1

1

To
le

ra
nc

e   0 - 50mm

 3mm

1mm

 0.2mm

>1000mm

> 50 - 500mm

A

APV'D

Material:

WEIGHT:

A3
SHEETSCALE:

Third Angle Projection

DATENAME

DRAWN

DO NOT SCALE DRAWING
Notes:

TITLE:

SKU:

REV

OFN/A 1 12

W.P 07/08/2025

Profence® 2X  2.0m x 3.0

PROFENCE® 2X



 SHACKLE 

 2
5 

 
27 

 
25

 

 200 

 2
0 

 
22 

 
20

 

 150 

 110 MAX 
 30 MAX  6

0 
M

IN
 

 16 

 2
00

 M
IN

 

80x80x3 /100x100x3 / 
120x120x4 /150x150x5 /
200x200x5 BOX SECTION HINGE POSTS 80x80x3 /100x100x3 / 120x120x3

BOX SECTION CATCH POSTS

 5
 M

IN
 

Clamp bars must align with the hole placement in the 
gate leaf and posts, always using slots sized to match 
the bolt. Clamp bars should also match the width of the 
box section with the exception of the hinge post clamp 
bar.

BASE PLATE SIZE MINIMUM 200 x 200 x 5MM 
TO INCREASE WITH BOX SECTION SIZE

BB

BC
 7

0 

18 THRU

3 x  20 THRU ALL

 60 

 1
5 

 130 

 200  60 

 440 

 4
00

 

 2
0 

 2
0 

 20 

 1
75

 

 30 MAX 

 370 MAX 

 260 

GENERIC SLIDER CONFIGURATION 
 & LOCKING ARRANGEMENT

A 16mm bar is fully welded and 
positioned centrally to the slider, 
allowing the slider leaf handing to 
be configured in either direction.

Minimum of 12mm
thick slider bar.

60X60X2mm BOX SECTION FABRICATED INTO A "U"
AND FULLY WELDED TO GATE FRAME.

Security padlock can be locked via
two positions on the slider assembly.

Minimum of 6mm 
Plate covering slider.

The slider, in the locked position, 
passes through a 16mm x 125mm 
rectangular slot  in the catch post.

TYP

TYP

 1
10

 

 70 

 85 

 40 

 22 

 1
30

 

 2
50

 

 6
00

 

 
8 

 25 

 6
0 

 1
40

 

 2
90

 

 5
0 

Bolt On Heavt Duty
 Drop Bolt

5 Ø Locking pin which gets 
installed with 5mm csk bolt to 
prevent removal of drop bolt.

Installed with X2 m8 x 70 cup
heads and X2 m8 washers &
m8 shear nuts.

Locking drop bolt guide slot for 
pin gives 130mm of movement 
from open to close postion.

The flag can be installed using an 
M5 socket bolt in either direction, 
allowing either handing to utilize 
the drop bolt.

The drop bolt is installed through a 
25mm x 35mm through-slot, allowing 
for adjustment while functioning as 
an in-housed drop bolt. 

Drop bolts are used to hold 
the gate in the open position.

Being an in-house drop bolt, it 
prevents clashes with the bolts used to 
attach the mesh to the gate frame

 1
15

0 

 200 

1000 / 1200 / 1500 / 2000 / 2500 / 3000 /
 3500 / 4000 / 4500 / 5000 / 

OVERALL WIDTH OF GATE LEAF

POST WIDTHS + GATE WIDTH + 110 + 30
= OVERALL GATE WIDTH 

 1
95

0 
/ 

23
50

 /
 2

95
0 

/ 
O

V
ER

A
LL

 H
EI

G
HT

 O
F 

G
A

TE
 F

RA
M

E 

 150 MAX 

 1
10

 

 2
00

0 
/ 

24
00

 /
 3

00
0 

O
V

ER
A

LL
 G

A
TE

 H
EI

G
HT

 F
RO

M
 T

O
P 

O
F 

G
A

TE
 P

O
ST

 T
O

 F
IN

IS
H 

G
RO

UN
D

 L
EV

EL
  3

50
 M

A
X 

 1
59

0 
M

A
X 

 2
60

0 
M

A
X 

C20/25 MINIMUM CONCRETE 
FOUNDATION GRADE

Rectangular slots are utilized in the box section 
to allow adjustment of M8 bolts without needing 
to break the mesh apertures for bolt insertion.

A vertical support of equal specification to the gate frame
should be welded vertically between top and bottom cross 
member to ensure no mesh panel exceeds 2500mm wide, 
vertical supports can be added on all gates at min of 0.8m 
centres to create a more rigid frame.RIBBED INSERTS 

APPLICABLE ON ALL POSTS

TYP

TYP

 1
14

0 

 1
25

 

 16 

 40 MIN 

 3
05

 M
A

X 

 20 MIN 

BD

 16 

 1
25

 M
IN

 

 5
 M

IN
 

SHS fully welded 
to base plate

Min OF 4 NO. M16x125mm
ANCHOR BOLTS FITTED IN 
ACCORDANCE WITH
MANUFACTURERS
INSTRUCTIONS.

typ

BL

Lock shackle goes behind 
cover plate to protect lock 

1.   All materials to be mild steel and
      conform to relevant British standards.
2.   All items to be pre-galvanised to BS EN 10346
      or hot dip galvanised to ISO 1461.
3.   Items can be powder coated on request,
      powder coating to : BS EN 13438
4.   installation via R.A.M.S

N/A
N/A

FOR GATES TO BE COMPLIANT THEY MUST 
BE FITTED WITH ONE OF THE PADLOCKS BELOW

ALL GATES WITH 80x80/100x100/120x120 
BOX SECTION HINGE POSTS ARE TO BE FITTED 
WITH GALVANISED EYE BOLTS WITH M8 x 40 

SADDLE BOLT AND M8 SHEAR NUT 

 High - 1.0 x 5.0m Wide Single 
Gate Leaf Bolt Down  Kit

To ensure effective operation, the 
drop bolt must have a minimum of 
50mm clearance into the ground.

SINGLE LEAF LOCKING ARRANGEMENT

ALL GATES WITH 150x150 / 200x200 BOX 
SECTION HINGE POSTS ARE TO BE FITTED WITH 
GALVANISED EYE BOLTS WITH M8 x 40 SADDLE 

BOLT AND M8 SHEAR NUT 

Henry Squire & Son Padlocks List

Product 
Name

Shakle 
(mm) Security Rating

SS50S 26.0 2

SS50CS 16.0 2

SS65S 29.0 3

SS65CS 19.0 3

SS80S 34.5 3

A A

B B

C C

D D

E E

F F

6

6

5

5

4

4

3

3

2

2

1

1

To
le

ra
nc

e   0 - 50mm

 3mm

1mm

 0.2mm

>1000mm

> 50 - 500mm

A

APV'D

Material:

WEIGHT:

A3
SHEETSCALE:

Third Angle Projection

DATENAME

DRAWN

DO NOT SCALE DRAWING
Notes:

TITLE:

SKU:

REV

OFN/A 2 12

07/08/2025W.P

Profence® 2X  2.0m x 3.0

PROFENCE® 2X



BH

BG

 270° 

 90° 

 80 MIN 

 8
0 

M
IN

 

Both an inside and outside corner can be
achieved by switching the direction of the
mesh in this configuration.

 90° 

 270° 

 8
0 

M
IN

 

 80 MIN 

Both an inside and outside corner can be
achieved by switching the direction of the
mesh in this configuration.

N/A
N/ABOLT DOWN CORNER CONFIGURATION

DIG IN CORNER CONFIGURATION

Single Gate Leaf Kit

A A

B B

C C

D D

E E

F F

6

6

5

5

4

4

3

3

2

2

1

1

To
le

ra
nc

e   0 - 50mm

 3mm

1mm

 0.2mm

>1000mm

> 50 - 500mm

A

APV'D

Material:

WEIGHT:

A3
SHEETSCALE:

Third Angle Projection

DATENAME

DRAWN

DO NOT SCALE DRAWING

REV DATEDESCRIPTION 

TITLE:

SKU:

REV

OFN/A 3 12

W.P 07/08/2025

Profence® 2X  2.0m x 3.0

PROFENCE® 2X



BE  80 MIN 

 75 MAX For dig-in posts positioned adjacent to a wall, there is typically no need 
to cut the mesh panel to fill the gap. Instead, the clamp bar and bolts 
can still be fitted for aesthetic purposes, ensuring a neat and consistent 
appearance.

BF

 200 MIN 

 75 MAX 

 80 MIN 

Where necessary, a mesh panel can be cut down to fill the 
gap between the catch post and the adjacent structure for 
improved aesthetics, ensuring a neat and consistent 
appearance.

N/A
N/ABOLT DOWN END CONFIGURATION

DIG IN END CONFIGURATION

For SR2 gates, the dig in catch post must be positioned against a wall 
or structure that complies with SR2 standards. This ensures that the 
entire fence meets the required security rating, as both the post and 
supporting structure must prevent unauthorized access or tampering.

For SR2 gates, the bolt down catch post must be positioned against a wall 
or structure that complies with SR2 standards. This ensures that the 
entire fence meets the required security rating, as both the post and 
supporting structure must prevent unauthorized access or tampering.

Single Gate Leaf Kit

A A

B B

C C

D D

E E

F F

6

6

5

5

4

4

3

3

2

2

1

1

To
le

ra
nc

e   0 - 50mm

 3mm

1mm

 0.2mm

>1000mm

> 50 - 500mm

A

APV'D

Material:

WEIGHT:

A3
SHEETSCALE:

Third Angle Projection

DATENAME

DRAWN

DO NOT SCALE DRAWING

REV DATEDESCRIPTION 

TITLE:

SKU:

REV

OFN/A 4 12

W.P 07/08/2025

Profence® 2X  2.0m x 3.0

PROFENCE® 2X


	Sheet1
	Drawing View285
	Drawing View286
	Drawing View287
	Drawing View288
	Drawing View289
	Drawing View290
	Drawing View291
	Drawing View292
	Drawing View293
	Drawing View294
	Drawing View295
	Detail View AZ (1 : 8)
	Detail View BA (1 : 8)
	Drawing View363
	Detail View BL (1 : 9)

	Sheet2
	Drawing View302
	Drawing View303
	Drawing View304
	Drawing View305
	Drawing View306
	Drawing View307
	Drawing View308
	Drawing View311
	Drawing View312
	Detail View BB (1 : 8)
	Detail View BC (1 : 8)
	Drawing View315
	Drawing View316
	Drawing View317
	Detail View BD (1 : 8)
	Drawing View366
	Detail View BL (1 : 9)

	Sheet3
	Drawing View325
	Drawing View326
	Drawing View327
	Drawing View328
	Detail View BG (1 : 5)
	Detail View BH (1 : 5)

	Sheet4
	Drawing View319
	Drawing View320
	Detail View BE (1 : 5)
	Drawing View322
	Drawing View323
	Detail View BF (1 : 5)

	Sheet5
	Drawing View331
	Drawing View332

	Sheet6
	Drawing View333
	Drawing View334

	Sheet7
	Drawing View368
	Drawing View369
	Drawing View370
	Drawing View371
	Drawing View376
	Drawing View377
	Drawing View378
	Drawing View379

	Sheet8
	Drawing View356
	Drawing View357
	Drawing View358
	Drawing View359

	Sheet9
	Drawing View339
	Drawing View340
	Drawing View342
	Detail View BT (1 : 4)
	Drawing View343
	Drawing View344

	Sheet10
	Drawing View345
	Drawing View346
	Drawing View348
	Drawing View349
	Detail View BV (1 : 5)
	Detail View BW (1 : 6)
	Drawing View351
	Drawing View352
	Drawing View353

	Sheet11
	Drawing View186
	Drawing View187
	Detail View A (1 : 1)
	Drawing View189
	Detail View AB (1 : 5)
	Drawing View191
	Detail View AC (1 : 7)
	Drawing View193
	Detail View AD (1 : 7)

	Sheet12
	Drawing View167
	Drawing View168
	Drawing View175
	Drawing View176
	Drawing View221
	Drawing View222


